PN
B

MIEE

hEAXREEEFIERES (—R VIR - FTLVZADER) BFE

HAXRERBEEHERT LTEFEICHIBLTLES L,

5/2 %

6/1 KEXEYTZNLEYZ—

s w B —fi% XTI R Ep———— .
- F|BAR | #X $3) F—L% DB | 0k | 087 | 0% B ZBME 35 & & B
#E| 5/1 | RE |EHESEFR 1
114/30| =% [&8HFrL Y 2 1 1 0.5 6,900
2| 5/1| ®I% [MOUSks 57 1 1,500
3| 5/2| A% [KTC 0.5 800
4] 5/2 | ®I% |[KYB 1 1 0.5 0.5 4,600
5| 5/2| A% KRV Z7 1 0.5 2,300
6| 5/2 | ax [>T 1 1,500
71 5/2 A% [YxxL—3v 32X 1 1,500
8|4/18| k& [SSTC 1 1,600
914/21| K& [KX&ZIF 1 1,600
10 4/24 B8 |EIEBREESEFIK 5 3 12,800
11{4/26| & |#D2DETTC 0.5 800
12]4/26| B [H W Xo—L 0.5 0.5 1,600
13]4/26| B [KEREZESEER 2 4 2 2 15,400
1414727 B8 (G077 1 1,500
15[ 4/25| BB |IEEm&Fr 1 1 3,100
16[(4/28| & |STTC 1 0.5 2,300
1714/28| %8 [BEIEFFK 0.5 1 2,400
18[4/28| & |REEEFRK 1 10 0.5 18,300
19(4/28| & |MMNEEFKR 0.5 800
201 4/29| KB |IREIE¥SESK 4 5 14,000
2114/29] %8 |)IBETE 2 0.5 3,800
2214/30] k& |JOKER 3 2 7,700
23|4/30| BB |AREFHRFK 1.5 2,400
241 4/30| KB |BHER 1 1,600
2514/30| KB |IZBEMSEFR 0.5 800
2614/30| KB |WME&I 77 1 1,600
2714/30| BB |AHhAKR—Y0 57 3 1 1.5 0.5 9,200
28| 4/30| KB |PEBISEFRK 0.5 800
29| 5/1 | KB |EHSEFRK 4 4 4 6 28,000
30| 5/1 | K8 |IHBR{EAEE 6 5 3 2 24,500
31 5/1 | K& [TSC 1 1,600
321 5/2| BB |8ffH2a=T077 1 1,600
33| 5/2 | KB |IHEBREEEFRK 1 1,600
34| 5/1 | KB |IHBEmZEAS 2 1 4,600
35| 5/2 | BB |BESEFRK 2 1 4 11,000
36|4/25| R | KRFEEIE 3 1.5 0.5 7,700
37|4/25| #EE |46 TTC 1 1 0.5 3,800
38|4/27| B2 [Y'z 1 1,500
39(4/27| @2 |[OP STYLE 1 1 3,200
401 4/28| R |KEBIXSEFK 1 3.5 7,100
411 5/1 | #R | KIEEaEFRK 2 0.5 4,000
421 5/1 | A2 |KIBAARFSELKR 0.5 800
43| 5/1 | @& |0.T.7.C 1 1,500
441 5/2 | BRE |FESEFK 7 1 6 21,600
45 5/4 | #E [KIEBELXSEEK 1 1 3,200
46|4/21| g |[TCY—7 1 0.5 2,300
4714/22| 2 [ME I RA 1 1 3,100
48| 4/23| Hg |BEEIaEFRK 3 6 1 15,700
49 4/26| dig |/hEHEFPFR 1 1,600
50{4/22| HiE [AIRITESK 1 1 3,100
52[ 5/2 | FB |HEEESEFK 3 1 3 10,900
53[ 5/2 | B |ERNEEEFR 2 1 4,800
54| 4/30| BB |%RBR/ 77 3 1.5 6,900
55(4/30 BB [BR 2=7/077 0.5 800
56( 5/1 | R |XRV 77 1 1 3,000
57(4/30] R |PEREEFK 2 8 45 23,000
58 5/2 | =& |T-Dragon 3 1 1.5 1 10,000
59 5/1 | B |EXSEFK 0.5 1 2,400
60 5/1 | RE |H)IPFR 0.5 800
61 5/2 | RE [BLASEFK 1 1 3,200
62| 5/2 | 7B [Neutrino 2 1 4,600
63| 5/2 | mEE [O07=3(F 1 0.5 2,300
64
65
& & 63 31 85 45




